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(Vapor compression refrigeration
(1) P-h T-S ( 5 %)
(2)
( COP) (10 %)
15
P-h ( ) COP
=1lkg/ s p,
hl1=31.42kJ/ kg h2=149. 45 k g
h3=192.98kJ/ kg h4:1856. 43kJY kg
h5=208.236kJ/ kg he=714./5627kJ |k
g 7 4 3
I
h
20
6 0 3.0cm 0. 6mm hi=
3200 kK = 18 W / m- 20
hoe7. Wm (1) (2)
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For each of the following Lapl acien-ittriaans fvarl me
final values.
2s+1
F(s)=
(s)( 1—)LS(S+1)
F(s)(:HL
s¥+2s” -8s
15
y"(t) +y'(t) + 6y'(t) + (k=5 y(t) = u(t) k
15

Pl ease find the unit step responesepamntdi ¢ dley f
the following system (10%)

4
G(s) =——
(s) orl

10

Consider the system described by the dynami

X, -5 0 0 |x 1
X, [=| 0 2 -2|x,|+|1u=AX+Bu
Xq 0 1 0 |x 0

%
y:[O 1 0] X, |=CX
X3
Determine the controllability and observabi



